Unit 1 Study Guide Name:

Matching: Classify each function on the left with its description on the right.

1 g, =3(8)mD a.  Arithmetic, Recursive
ms

2 _n B 1% w&&i Arithmetic, Explicit % CUK v\gﬁv

a,=6'a,_q,a; =2 c. Geometric, Recursive

\

> ’.@

d. Geometric, Explicit

Matching: Match each sequence on the left with a formula on the right.

3,-5,-13,-21 A a  a,=3@)"! 3<8> 2
3 33f 1 24

4, 20, 100, 500 b. a,=5-ay,1a; =4

SN

36,18, 9,4.5,... C. a, =—-8n+11

d. 36 1
an=36(3)

(n-1)

For each table below, determine if the_seguence is arithmetic or geometric. Then tell what the constant ratio or

common difference is. Create t @- each.

\— eomeme
Term Value @_ > Tzle'rm Vsiue 6

Number Number
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9. Below is an grithmetic sequence. Complete the table with the missing values.

N

Al 2

X 1 2 3 4 5
f(x) 8 2| gq LH_ 60
+ (-8 = 52
10. Find the following: f (x) —10, g(x) =3x2—2x+1 6—-\ L{'

2) g(—4) ) f(3) < U%hm/ﬁ +13
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11. Below i @- uence. Complete the t
Why? %
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4 5

fx) 7%

216 (_0’-{78

L) on‘%%mdﬂo

12. The first term in aSequence is 8. The sequence inc

T hitetic. AR 8 A At

13. The end of a spring is pulled as far back as it will go and then released. On the first bounce back, it extends 152

CT

le with the mlssm values. Is that the only ratio that works?

2lb —

€ach time. What would be the recursive

a. Is this scenario Arithmetic dr Geometricy How do you know?

cm. On its second bounce back, it ext(end@

b. Create the recursive and explicit formulas.
@9 = 152 pn=L (Ana)

=2
op

On its third bounce back, it extends 38 cm.

Fo=4

152 £

c. How far does the spring extend on its 5%, 6™, and 7*" bounce back?

9. Sem, YA5em 2. 3"75cm

14. Alarge nursery starts on day 0 with 1400 lilies to seII Every day,

Write an@xplicit formul@Jor the number of lilies available to sell, where n is the number
number of lilies that can be sold on th@ @, and.day ":?"a
An" [400—70n Q7470
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15. Type of sequence: AY\',’I’\H\L’\’)C/
16. Recursive: Al q AVV\’A;'\

oo A= 12730
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v Sequence: {j}jﬁj@xq
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18. Type of sequence: G{O m@’m (,.
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15, Recursive: A\,: | A—,r\f’ Q(Ah
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21. Error Analysis: Who is correct? l -

Callie and Joseph are trying to find the common ratio, recursive formula, and explicit formula for the sequence
—5,—15,—-45,—135, ... Their answers are provided. Is either one correct?

Callie’s Work Joseph’s WO)’/I(

15 s
Common ratio: — =3 \/ Common ratio: — =

Explicit Formula: a,, = —5(3)®=1 Explicit Formula: a, =ﬂ)(" D (.

Recursive Formula: an :@ Recursive Formula: a, =3 a,;_4 ‘/a1 =-5 \/

Yoo s ’Km* ") e

Explanation: /\P AI Y |S Soes \I\Dp'k'

22.The distance (in inches) that a free-falling object falls in each second, starting with the first second, is given by

_83; A“’O 5(3) Rec
0.5(3¥° 'z Az 0-5
SBI2033 5 Az 3Cn-)

0.5 =4 210"

23, 4 Let’schange back and forth between forms!
Given the recursive definition, write the | Given the explicit definition, write the [
explicit definition. recursive definition.

ay, :3'an—1

a =4 % a, =52)" | Al= 9)
LH§> A— v 5(2) =|0 Ar\: Z(a,\—\\)
g=5 a,=—2-a,, a,,=20d(ET A [OO

n-1 2)
5(-1 Arfzoo(%‘ﬁa Az £ hn)




